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1. Are you a romantic person?

D (== 61%
N O ot 19%
NOt SUIE . e e 14%
Prefer Notto say ... 6%
2. Do you feel that your partner is too romantic or not romantic enough?
TOO rOMANTIC .t 5%
AbOUL gt 31%
Not romantic enough ... 29%
NOt SUIE oot e e 5%
Prefer notto say ..o 4%
Not applicable — 1 do not have a partner .......... ... ...t 26%

3. Do you feel that your partner’s expectations of how romantic you should be are too high or
too low?

Too high .o 10%
ADOUL Mgt 33%
TO0 JOW 11%
N Ot UM .ottt e e 16%
Prefer notto say ... 4%
Not applicable — 1 do not have a partner .......... ... ...t 26%



YouGov

4. How happy are you in your current relationship?

NIy MDY o 39%
Somewhat happy ... 21%
Somewhat unhappy ... 5%
VY UNN@ DY e 3%
N Ot SUIE o e 3%
Prefer notto say ... 3%
Not applicable — I am not in a relationship .......... ... ... oot 26%

Interviewing Dates
Target population

Sampling method

Weighting

Number of respondents
Margin of error
Survey mode

Questions not reported

November 2 - 4, 2015
U.S. adults, aged 18 and over.

Respondents were selected from YouGov’s opt-in Internet
panel using sample matching. A random sample
(stratified by age, gender, race, education, and region)
was selected from the 2010 American Community Studly.
Voter registration was imputed from the November
2010 Current Population Survey Registration and Voting
Supplement. Religion, minor party identification, and non-
placement on an ideology scale, were imputed from the
2008 Pew Religion in American Life Survey.

The sample was weighted using propensity scores based
on age, gender, race, education, voter registration, and
non-placement on an ideology scale. The weights range
from 0.173 to 4.244, with a mean of one and a standard
deviation of 0.896.

1000

+ 4.2% (adjusted for weighting)

Web-based interviews

20 questions not reported.



